MULTIPLICATION: NEGATIVE DECIMAL NUMBERS (H - SET 2)

Name:
CHALLENGE
Time: Score: y—
51 0.05 x 0.0459 = %6 —5 X 0.0168 =
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—0.008 x (—496) =
—0.03 x 250 =
0.0002 x (—4.47) =
0.3 x (—0.373) =
10 x (—2.82) =

—6 % (—36.7) =

1 x (—0.0097) =
—5 % 486 =
—0.003 x 0.394 =
0.4 x (—0.0048) =
—0.002 x (—3.05) =
10 x (—0.246) =
—0.4 x 0.0209 =

—5 % (—0.216) =
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0.0006 x (—319) =
0.08 x (—16.1) =
0.2 x 4.3 =

0.0005 x 0.073 =
—0.008 x (—0.0251) =
—0.007 x 49 =

0.9 x (—1.03) =
—0.01 x (—4.76) =
0.04 x 0.358 =
0.005 x 38.6 =
—0.0004 x 0.0341 =
2 x (—0.0182) =
—3 % 0.285 =

0.9 x 4.89 =
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